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BNRI-102 : ELEMENTS OF HYDROLOGY

Time : 2 Hours  Maximum Marks : 50

Note : Attempt any five questions. All questions carry

equal marks.

1. Describe the hydrologic cycle with the help of a

diagram and write its different components. 10

2. (a) What are the important conditions required for

precipitation formation ? Explain. 5

(b) Describe rainfall intensity-duration-frequency

relationship. 5

3. What is Rational method of peak runoff estimation,

explain ? Define time of concentration and write its

complete equation. 10

4. (a) Describe water budget with the help of a

diagram. 5

(b) Calculate the water use efficiency when sex

irrigations of 8 cm each were applied to rice

crop which yielded 12 tones per ha. The

consumptive use during growth period was

24 cm. 5

5. (a) Describe head loss due to friction in pipe.

Write its equation. 

(b) Define infiltration. How is it measured ? 5

6. (a) Write the advantages of recording type of rain

gauge over non-recording type rain gauge. 

(b) What is arithemetic mean method of mean

rainfall measurement. Write its limitations. 5

7. Describe in detail the velocity area method for

discharge measurement. 10

8. Write short notes on any four of the following :

4×2.5 = 10

(a) Stream flow

(b) Percolation

(c) Drainage basin

(d) Wetted perimeter

(e) Mass curve
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 BNRI-102

tylaej izca/ku esa fMIyksek dk;ZØe
(Mh-MCY;w-,e-)

l=kar ijh{kk

twu] 2024

ch-,u-vkj-vkbZ&102 : tyfoKku ds rRo

le; : 2 ?k.Vs vf/kdre vad : 50

uksV % fdUgha ik¡p iz'uksa dks gy dhft,A lHkh iz'uksa ds vad

leku gSaA

1. tyfoKkuh pØ dk vkjs[k dh lgk;rk ls o.kZu dhft,

vkSj blds fofHkék ?kVdksa dks fyf[k,A 10

2. (d) vo{ksi.k cuus ds fy, fdu fLFkfr;ksa dk gksuk

vko';d gksrk gS \ O;k[;k dhft,A 5

([k) o"kkZ xgurk&vof/k&vkorZrk lEcU/k dk o.kZu

dhft,A 5

3. lokZsPp viizokg vkdyu dh vkuqikfrd fof/k D;k gS \

O;k[;k dhft,A le; dh x.kuk dks ifjHkkf"kr dhft,

vkSj mldh iwjh lehdj.k fyf[k,A 10

4. (d) ty ctV dk vkjs[k dh lgk;rk ls o.kZu dhft,A

([k) pkoy dh Qly dks 8 ls-eh- izR;sd dh Ng

flapkb;k¡ nh xb± vkSj bldh 12 Vu izfr gSDVs;j

mit izkIr gqbZA Qly dh c<+okj vof/k ds nkSjku

ty dk {k;'khy mi;ksx 24 ls-eh- Fkk rks Qly

dh ty mi;ksx n{krk dh x.kuk dhft,A 5

5. (d) ikbi esa ?k"kZ.k ds dkj.k 'kh"kZ gkfu;ksa dk o.kZu

dhft,A bldh lehdj.k fyf[k,A 5

([k) vo/kuu dks ifjHkkf"kr dhft,A bls fdl izdkj

ekik tkrk gS \ 5

6. (d) ukWu&fjdkW²Mx Vkbi o"kkZekih dh rqyuk esa fjdkW²Mx

Vkbi o"kkZekih ds ykHk fyf[k,A 5

([k) vkSlr o"kkZ ds vkdyu dh vadxf.krh; ek/; fof/k

D;k gS \ bldh lhek,¡ fyf[k,A 5
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7. fuLlj.k ekiu dh xfr {ks=Qy fof/k dk foLrkj ls o.kZu

dhft,A 10

8. fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡

fyf[k, % 4×2.5=10

(d) izikr izokg

([k) izos'ku

(x) tyfudklh Fkkyk

(?k) vkæZ@Hkhxk ifjeki

(³) ekl oØ

***


